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Binary Tree: A tree whose elements have at most 2 children is called a

binary tree. Since each element in a binary tree can have only 2 children, we

typically name them the left and right child.
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Types:

1) Full Binary Tree A Binary Tree is a full binary tree if every node has 0 or 2

children. The following are the examples of a full binary tree. We can also
say a full binary tree is a binary tree in which all nodes except leaf nodes
have two children.
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In a Full Binary Tree, number of leaf nodes is the number of internal
nodes plus 1

L=1+1
Where L = Number of leaf nodes, | = Number of internal nodes

(X)) Complete Binary Tree: A Binary Tree is a complete Binary Tree if all the
levels are completely filled except possibly the last level and the last level
has all keys as left as possible
The following are examples of Complete Binary Trees
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Note: Every Full tree is Complete binary tree but converse is not true.

Ques:1) Is the following is Binary Tree? Yes

2) Find pre-order, post-order and in-order traversal.
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Ques: Find minimal spanning tree for the following weighted graph
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